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INTERNATIONAL AND AREA STUDIES
PAPER —1I

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which one of the following is an axion of Idealism in the world politics :

(A) International society has to re-organize itself to eliminate the institutions that
make war likely.

(B) War is a necessary evil.
(C) Changes in political decision-making are responsible for the outbreak of war

(D) Cooperative approaches can halt the conditions of war.

2. Which American President initiated the NMD programme ?

(A) Bill clinton (B) George W. Bush
(C) Ronald Reagan (D) Richard Nixon
3.  The commander of U.S. occupation forces in Japan after world war II was :
(A) General Patton (B) General Mac Arthur
(©) Commodore Perry (D) Air Marshal Montford
4.  The People’s Republic of China first tested a nuclear device in :
(A) 1960 (B) 1964
(©) 1970 (D) 1972
5.  Who among the following compared the distribution of power in international politics
as the structure of a multi-layered cake :
(A) Hans J. Morgenthou (B) K. Boulding
(©) J.Nye (D) H. Kissinger

6.  The Spartley Islands dispute is related to :
(A) China and Vietnam (B) Myanmar and Indonesia
(C) Vietnam and Laos (D) India and Bangladesh
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10.

11.

12.

13.

Which one of the following is not a regional economic grouping :
(A) NATO (B) SAARC
(C) NAFTA (D) OPEC

The term ‘Sustainable Development” was firstly used by :
(A) Brundtland Commission (B) Canberra Commission

(C) Shah Commission (D) Sri Krishna Commission

‘The negation of shooting war’ is referred to :
(A) Cold war (B) Low Intensity war

(C) High Intensity war (D) Negotiation for conflict resolution

Which one of the following countries led the ‘GWOT" :
(A) USA (B) Russia
(C) India (D) Pakistan

The stress on reducing the incentives to rather than capacity for war is a general practice
of :

(A) Arms Control (B) Disarmament

(C) Conflict Resolution (D) Conflict Transformation

Which one of the following is known for drug trafficking :
(A) South Pacific region (B) Golden Crescent
(C) Siberia (D) North Pacific region

The term “Entente’ is related to :

(A) Friendly relationship between states

(B) Inimical postures between two or more states
(C) Relaxation of tensions between states

(D) Outbreak of war by a state against its neighbour
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14.

15.

16.

17.

18.

19.

20.

Which one of the following is not considered as an existential threat to mankind :
(A) Global warming (B) Nuclear weapons

(C) Global Terrorism (D) Economic depression

Which one of the following outpasses the traditional attributes of geography as a factor
in International Relations :

(A) Globalization (B) Colonization

(C) Cultural exchanges (D) Technological output

Which one of the following is not an element of National Power :
(A) Human Development Index (B) Economic capability

(C) Military power (D) National will.

When did the Soviet Union Collapse ?
(A) October, 1917 (B) December, 1991
(C) March, 1985 (D) August, 1991

The first President of independent Russia is :
(A) Mikhail Gorbachev (B) Andrei Gromyko

(C) Boris Yeltsin (D) Vladimir Putin

Who of the following was the longest serving Soviet foreign minister :
(A) Eduard Shevardnadze (B) Andrei Gromyko

(C)  Yuli Vorontsov (D) Vyacheslav Molotov

MiG fighter plane is named after :
(A) Misha and Gregory (B) Mikhail and Gennady

(C) Mikayan and Gurevich (D) Maxim and Gusev.
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21. ‘Earth Summit” was hold at :
(A) Geneva (B) Vienna

(C) Rio-de-Zenero (D) Kyto

22. Mozambique became independent in the year :
(A) 1965 (B) 1985

(C) 1990 (D) 1975

23.  Which one of the following is not declared as a Nuclear Weapon Free Zone :
(A) Latin America (B) South Pacific

(C) North Pacific (D) Africa

24. How many African island states exist in the Indian Oceans :
(A) Ten (B) Three

(C) Seven (D) Five

25. Which is the largest river in Africa ?
(A) Nile (B) Congo

(C) Zambezi (D) Niger

26. Which one the following is a disputed territory between Israel and Syria :

(A) West Bank (B) Golan heights

(C) Sinai Peninsula (D) Gaza Strip

27. The present secretary - General of the UN is :
(A) Kofi Annan (B) Uthant

(C) Ban Ki moon (D) Boutrous Boutrous Ghali
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22.
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24.

25.

26.
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28. Which one of the following Articles of the UN charter provides the right to
self-determination :

(A) Article 50 (B) Article 51
(C) Article 53 (D) Article 55

29. The eighth country, which has become the member of SAARC is :
(A) Myanmar (B) China
(C) Afghanistan (D) Iran

30. The name ‘Janata Vimukti Peramuno’ is associated with :
(A) India (B) Sri Lanka
(C) Nepal (D) Bangladesh

31. The Palk strait lies between :
(A) India-Pakistan (B) India-Bangladesh

(C) China - Pakistan (D) India - Sri Lanka

32.  Which one of the following is considered as ‘All-Weather warm water” Harbour :
(A) Cochin (B) Trincomalee

(C©) Mumbai (D) Dhaka

33. France lost the war of Dien Bien Phu in :
(A) 1945 (B) 1949
(C) 1954 (D) 1956

34. Headquarters of the ASEAN is located in :
(A) Manila (B) Bangkok

(C) Jakart (D) Singapore
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35.

36.

37.

38.

Pakatan Rakyet is the opposition alliance in :
(A) Indonesia (B) Brunei
(C) Malaysia (D) Pakistan

Assertion (A) : India was invited as a “full dialogue partner” of ASEAN to meet the
challenges of new world order.

Reason (R) : Economic interdependence was more important for ASEAN to invite
India as a dialogue partner.

(A) (A) is correct but (R) is false
(B) Both are correct

(C) Both are not correct

(D) (A) is false but (R) is correct

Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Africa has become important for china in post-cold war period.

Reason (R) : Declining influence of the USA and Russia in Africa have made
African continent important for China.

In this context, identify the correct code from the following :
(A) Both (A) and (R) are correct

(B) (A) is correct and (R) is not complete explanation

(C) (A) is correct, but (R) is false

(D) (A) is false but (R) is correct

‘Shanghai Cooperation Organization” is a regional forum to resolve border dispute
among member states. Its expanded role includes economic cooperation and security
issues. India is only an observer in SCO. In the light of this, we can assume that India’s
future membership in SCO can help :

(i)  Resolve India-China border dispute

(if) Resolve Indo-Pakistani border dispute
(iii) Resolve Kashmir Problem

(iv) Strengthen India-China-Russia triangle
In this context, choose the correct code :

(A) Statement (i) to (iv) are correct

(B) Statement (i) to (iii) are incorrect

(C) Only statement (iv) is correct
(

D) All statements are incorrect
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39.

40.

41.

Given below are two statements, one labelled as Assertion (A) and the other as Reason
(R) :

Assertion (A) : ’International Relations’ is the study of conflict and cooperation
between two or more entities of the international system.

Reason (R) : Political entities resort to conflict or cooperation to promote their
interests.

In this context, which one of following codes is correct :
(A) Both (A) and (R) are correct

(B) (A) is correct, (R) is false

(C) (A) is false, (R) is correct

(D) Both (A) and (R) are false

Match the capitals with their respective countries with the help of List-I and List-1I as
per the codes given :

List-1 List-11
(a) Bangkok (i) Vietnam
(b) Hanoi (i) Thailand
(c) Manila (iii) Philippines
(d) Kuala Lumpur (iv) Malaysia
Codes :

(@ (b () (@
@) O @ @) W
B (v) @) @ @
© @) @O @) )
O () (O @

Give chronological order of the attainment of independence by the following African
States by choosing correct code :

(i) Kenya
(i) Cango
(iii) Liebya

(iv) Sierra Lieone

Code :

(A) @ () (v) (i)
(B) (i) (@Gv) () ()
Q) @) @) (@) ()
(D) G) @@ @) (@Gv)
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39.

40.

41.
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42. Match Table-I with Table-II, by choosing correct code :

Table-I Table-II
(@) Strait of Malacca ()  North-West Africa
(b)  Strait of Harmuiz (i) South-East Africa
() Bob-et-Mandeb (i) Persian Gulf
(d)  Strait of Gibralter (iv) North-East Africa
Codes :
(@ B (© (@
(A) (@) @) (D) (iv)
(B) (i) (@) @) (i)
Q) @) @D @ (@)
(D) @) @) (Gv) (@)

43. Match the following capitals with their countries. Use the codes given below :

Table-1 Table-IT
(a) Ashgabat (i) Kyrgyzstan
(b) Astana () Tajikistan
() Dushanbe (i) Turkmenistan
(d) Bishkek (iv) Kazakhstan
Codes :

(@ ) () (@
(A) @) (v @ 0
(B) (v) (i) (@) (i)
Q) @) @) o (v) (i)
(D) G) (@@ @) ()

16



42. arforaRT-1 3R ATCTRT-I1 1 HE FHe T TAN hld g Faferd Hifag

aTfeTehT-1 arferahT-11
(a) AR ST SHEH (i) STR-UT=H ST
(b) TEHS SoeHEHH (i)  Sfero-qe T
(c) e T Hied (i) R T Qe
d) fSeee SeeHEde (iv) ST-Yd THIH
Fe

(@ (@B () (@
(A) (@) @) @) (i)
(B) (D) @ @) ()
© G @) @ @)
(D) () (D) (@) ()

43. Treifena TsTent=il <l 3Tk ST o W1 YAl hifse = 53 Fe 1 T Hifa

AeTahT-1
(a) TETE
(b)  STEIT
(0 3Em
(d) fo=pe
He :

(@ () (o
(A) (i) (iv) (
(B) (v) (i) ()
© @) @
(D) G @ (
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44.

45.

Sequence the following treaties. Use the codes given below :
(i)  Nuclear Non-Proliferation Treaty

(if) INF treaty

(iii) Treaty of Rarotonga

(iv) Treaty of Tlaterlolco

Codes :

(A) @) @) @) (i)
B) (@) (@) @) @
© (@) @) @ ()
(D) @Gv) (@) @) (i)

The ‘Buddha Smiled’ is associated with :
(A) Operation Blue star (B) Kargil war
(C) Pokhran Nuclear Test (D) War on Terror

Read the passage below, and answer the questions from 46 to 50 on the basis of your
understanding of the passage :

“In foreign economic relations, politics and economics, diplomacy and commerce,
industrial production and trade are woven together. Consequently, the approach to
them and the management of them must be integrated, tying into one knot... our political
and economic interests.” This observation underscores the extent to which politics and
economics in command or planned economies are often intertwined inextricably. In
the postwar period, governments in Western nations have increasingly intervened in
their economies to manage economic conditions. The resurgence of neomercantilist
philosophies and policies is a manifestation of the interventionist strategies of many
governments with regard to the international economic system. Yet there is an important
difference between the planned economies of the erstwhile Soviet Union and Eastern
Europe and the market economies of the First World. In the latter, prices play an
important role in encouraging production and regulating the distribution of goods and
services. In planned economies, production and distribution decisions are made by the
government.

This difference between planned and market economies has an important bearing
on commercial relations between them. “For the West, the underlying rule would still
be that any trade can take place unless a government prevents it ; Differing perceptions
of the way gains are realized from international commercial transactions flow from
this fundamental distinction. “The Soviet system is based on the proposition that social
gain is maximized by the state’s commands. The American system, like the system of
most Western Countries, is fashioned on the proposition that as individuals pursue
their private gain, the benefits for the country will exceed its costs, yielding a social
gain”.

J—9009 18



44.

45.

Trifra wfedl =61 e Teqd HIfSw | = fod 13 e 1 gam i)
() YR STYER HiY

(i) oTE. T U Gy

(iti) AT HfY

(A) = TR HiwA (B) R I5
(C) UreT AfHehtd qdieron (D) 3Adskare & fasg 51

e Q@ 7T ST FHt GIET TAT 3T GHAST 46 T 50 Tk & 91 & I GHIT:

foreeft amfefer Ty, TsHifd, steferereen geifa qen anfusy, i IAIGH qe1 MR
T TR W T T T | IROMHA: 3k IUTTH, ITehT Yoo ot Toh X | Ufa g1 =feT, o7aq
THIfaeh T STfee fadi &1 T g § Sien -2 1 % YA S qen steferawen i e
T AT AISHT S hT GIHT 1 HH Kl 8, T8 o stefezrareme g Sifed &9 9 7o &t 2|
Y HHIH o 918 & 9, Gt < H tefezremeensti sl fHafra s | oot steferereeneti
T FEIETT Gl T @ ¢ | TIAURIaTE S T il ot e S{arisera enfeies sraeen =t
3fe O g O WHRI it T Iiwal w1 sifavfa 1 =afa gd wifaed = qen geelt gf@n ot
TSR SFeeen qem ot 209 shi Feifea steferaten § weequl o=k €| o1 o, HiHd S
TIeaTe et SReqQ e Faedi & foraror & e § meergut yfest frum € 1 fafeifa stefermrensit
Y Ires qun faawer Heielt fofa TR g foe S 2 |

faf=ifsa qen SeR stefererEensti H Teh Hequl ST<R 3 afureesh Heel W ISl ¢
“qfyem #, eneft I Frem fafed © fF 99 9% TR 1 Faum T8 Sl 99 % 98 TR
ot & | fafis adel ¥ um ey iR arforfsos Seerst & yorg ¥ W Wi g1 g
Hifoga =Faen’’ 38 FoA W nuifa off f amfsie fea T fem gro stfenay 2 €1
Rt e, 3Tfurenisr uf¥=rdt S9N ol SHrerEen st Wifd, 39 oA W 2aiia off for =afe o1
fea o1 e Wad €, 39 % fen oy gt Suaifed & ford simdl b1 ser |

J—9009 19 P.T.O.



46. In the above passage, the central theme refers to :

(A)
(B)
(©

(D)

The evolution of East-West economic Linkages during the cold war years.
Intervention of western governments in economic management.
Distribution of economic and financial resources in the world.

Control of the Soviet economy by the west.

47. According to the passage, the political and economic interests were better served by
interlinking the following :

Politics and economics in foreign relations of the either side.

Politics, economics, diplomacy, commerce, industrial production and trade in
foreign relations of the either side.

Controls of foreign direct investment in countries of the either side.

Management of military matters by exclusive economic assistance in countries of
the either side.

48. The material in the said passage could be best used in an argument for one of the
following :

(A)
(B)
(©

(D)

The interlinkages of planned and market economies in the foreseeable future.
Supremacy of planned economics over the market economies.
Supremacy of market economics over the planned economies.

Reaping the benefits of globalisation.

49. The strengths and weaknesses of planned economies lie in :

Production and distribution decisions taken by the respective governments.
Uncontrolled production.
Uncontrolled trade and investment.

Opening of the economy.
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50. The strengths and weaknesses of the market economies lie in :

(A) The assumption that individuals pursue private gains for the social and economic
benefits of the country concerned.

(B) Accumulation of wealth by the rich people.
(C) Improvement of the quality of life of the poor.

(D) Empowerment of the masses and their participation in decision-making.
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